
SAP ABAP table ROIGDL {TD Driver's license data}

ROIGDL

CLIENT [CLNT (3)]

DRIVERCODE [CHAR (10)]

LICENSETYP [CHAR (4)]

LICENSENO [CHAR (18)]

VALID_FROM [DATS (8)]

VALID_TO [DATS (8)]

CRE_DATE [DATS (8)]

CRE_NAME [CHAR (12)]

CHA_DATE [DATS (8)]

CHA_NAME [CHAR (12)]

LICENSETXT [CHAR (40)]

UPDATEFLAG [CHAR (1)]

OIGD

CLIENT [CLNT (3)]

DRIVERCODE [CHAR (10)]
 ROIGDL-DRIVERCODE = OIGD-DRIVERCODE 

0..N

0..N T000

MANDT [CLNT (3)]

 ROIGDL-CLIENT = T000-MANDT 
0..N0..N

TOIGL

CLIENT [CLNT (3)]

LICENSETYP [CHAR (4)]

 ROIGDL-LICENSETYP = TOIGL-LICENSETYP 

0..N

0..N


